

SUMS INVOLVING A CLASS OF JACOBSTHAL POLYNOMIAL SQUARES

THOMAS KOSHY AND ZHENGUANG GAO

ABSTRACT. We explore the Jacobsthal version of an infinite sum involving gibbonacci polynomial squares.

1. INTRODUCTION

Extended gibbonacci polynomials $z_n(x)$ are defined by the recurrence $z_{n+2}(x) = a(x)z_{n+1}(x) + b(x)z_n(x)$, where x is an arbitrary integer variable; $a(x)$, $b(x)$, $z_0(x)$, and $z_1(x)$ are arbitrary integer polynomials; and $n \geq 0$.

Suppose $a(x) = x$ and $b(x) = 1$. When $z_0(x) = 0$ and $z_1(x) = 1$, $z_n(x) = f_n(x)$, the n th *Fibonacci polynomial*; and when $z_0(x) = 2$ and $z_1(x) = x$, $z_n(x) = l_n(x)$, the n th *Lucas polynomial*. Clearly, $f_n(1) = F_n$, the n th Fibonacci number; and $l_n(1) = L_n$, the n th Lucas number [1, 4].

On the other hand, let $a(x) = 1$ and $b(x) = x$. When $z_0(x) = 0$ and $z_1(x) = 1$, $z_n(x) = J_n(x)$, the n th *Jacobsthal polynomial*; and when $z_0(x) = 2$ and $z_1(x) = 1$, $z_n(x) = j_n(x)$, the n th *Jacobsthal-Lucas polynomial*. Correspondingly, $J_n = J_n(2)$ and $j_n = j_n(2)$ are the n th Jacobsthal and Jacobsthal-Lucas numbers, respectively. Clearly, $J_n(1) = F_n$; and $j_n(1) = L_n$ [2, 4].

Gibbonacci and Jacobsthal polynomials are linked by the relationships $J_n(x) = x^{(n-1)/2} f_n(1/\sqrt{x})$ and $j_n(x) = x^{n/2} l_n(1/\sqrt{x})$ [3, 4, 5].

In the interest of brevity, clarity, and convenience, we omit the argument in the functional notation, when there is *no* ambiguity; so z_n will mean $z_n(x)$. In addition, we let $g_n = f_n$ or l_n , $c_n = J_n$ or j_n , $\Delta = \sqrt{x^2 + 4}$, $2\alpha = x + \Delta$, $D = \sqrt{4x + 1}$, and $2w = 1 + D$.

2. GIBONACCI POLYNOMIAL SUM

Before presenting an interesting gibbonacci sum, again in the interest of brevity and expediency, we let

$$\mu = \begin{cases} 1, & \text{if } g_n = f_n, \\ \Delta^2, & \text{otherwise;} \end{cases} \quad \nu^* = \begin{cases} 1, & \text{if } g_n = f_n, \\ -1, & \text{otherwise;} \end{cases} \quad \text{and} \quad D^* = \begin{cases} 1, & \text{if } c_n = J_n, \\ D^2, & \text{otherwise.} \end{cases}$$

Using these tools, we established the following result in [6].

Theorem 2.1. *Let k , r , and t be positive integers, where $t \leq 6$. Then*

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk} \mu \nu^* f_r f_{6k}}{g_{(6n+t-3)k}^2 - (-1)^{tk} \mu \nu^* f_{3k}^2} = \frac{g_{tk+r}}{g_{tk}} - \alpha^r. \quad (2.1)$$

Our objective is to explore the Jacobsthal counterpart of this sum.

3. JACOBSTHAL POLYNOMIAL SUM

To achieve our goal, we will employ the gibbonacci-Jacobsthal relationships in Section 1. To this end, in the interest of brevity and clarity, we let A denote the fractional expression on the left side of the given gibbonacci equation and B that on its right side, and the left-hand side (LHS) and right-hand side (RHS) of the corresponding Jacobsthal equation, as in [5].

Notice that $\alpha(1/\sqrt{x}) = \frac{1+D}{2\sqrt{x}} = \frac{w}{\sqrt{x}}$.

With this brief background, we begin our exploration.

Proof. Case 1. Suppose $g_n = f_n$. We have $A = \frac{(-1)^{tk} f_r f_{6k}}{f_{(6n+t-3)k}^2 - (-1)^{tk} f_{3k}^2}$. Replacing x with $1/\sqrt{x}$, and then multiplying the numerator and denominator with $x^{(6n+t)k-2+r/2}$, we get

$$\begin{aligned} A &= \frac{(-1)^{tk} x^{(6n+t-3)k-1} [x^{(r-1)/2} f_r] [x^{(6k-1)/2} f_{6k}]}{x^{3k-1+r/2} \{x^{[(6n+t-3)k-1]/2} f_{(6n+t-3)k}\}^2 - (-1)^{tk} x^{(6n+t-3)k-1+r/2} [x^{(3k-1)/2} f_{3k}]^2} \\ &= \frac{(-1)^{tk} x^{(6n+t-3)k-1} J_r J_{6k}}{x^{3k-1+r/2} J_{(6n+t-3)k}^2 - (-1)^{tk} x^{(6n+t-3)k-1+r/2} J_{3k}^2}; \\ \text{LHS} &= \sum_{n=1}^{\infty} \frac{(-1)^{tk} x^{(6n+t-6)k-r/2} J_r J_{6k}}{J_{(6n+t-3)k}^2 - (-1)^{tk} x^{(6n+t-6)k} J_{3k}^2}, \end{aligned}$$

where $g_n = g_n(1/\sqrt{x})$ and $c_n = c_n(x)$.

Next, we turn to $B = \frac{f_{tk+r}}{f_{tk}} - \alpha^r$. Replace x with $1/\sqrt{x}$, and then multiply the numerator and denominator with $x^{(tk+r-1)/2}$. This yields

$$\begin{aligned} B &= \frac{x^{(tk+r-1)/2} f_{tk+r}}{x^{r/2} [x^{(tk-1)/2} f_{tk}]} - \frac{w^r}{x^{r/2}}; \\ \text{RHS} &= \frac{J_{tk+r}}{x^{r/2} J_{tk}} - \frac{w^r}{x^{r/2}}, \end{aligned}$$

where $g_n = g_n(1/\sqrt{x})$ and $c_n = c_n(x)$.

Equating the two sides yields the Jacobsthal version of equation (2.1):

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk} x^{(6n+t-6)k} J_r J_{6k}}{J_{(6n+t-3)k}^2 - (-1)^{tk} x^{(6n+t-6)k} J_{3k}^2} = \frac{J_{tk+r}}{J_{tk}} - w^r, \quad (3.1)$$

where $c_n = c_n(x)$.

Next, we explore the Jacobsthal-Lucas version of Theorem 2.1.

Case 2. Let $g_n = l_n$. Then $A = \frac{(-1)^{tk+1} \Delta^2 f_r f_{6k}}{l_{(6n+t-3)k}^2 + (-1)^{tk} \Delta^2 f_{3k}^2}$. Replacing x with $1/\sqrt{x}$, and then multiplying the numerator and denominator with $x^{(6n+t-3)k}$, we get

$$A = \frac{(-1)^{tk+1} \frac{D^2}{x} f_r f_{6k}}{l_{(6n+t-3)k}^2 + (-1)^{tk} \frac{D^2}{x} f_{3k}^2}$$

$$\begin{aligned}
 &= \frac{(-1)^{tk+1} D^2 x^{(6n+t-6)k-r/2} [x^{(r-1)/2} f_r] [x^{(6k-1)/2} f_{6k}]}{[x^{[(6n+t-3)k]/2} l_{(6n+t-3)k}]^2 + (-1)^{tk} D^2 x^{(6n+t-6)k} [x^{(3k-1)/2} f_{3k}]^2}, \\
 \text{LHS} &= \sum_{n=1}^{\infty} \frac{(-1)^{tk+1} D^2 x^{(6n+t-6)k-r/2} J_r J_{6k}}{j_{(6n+t-3)k}^2 + (-1)^{tk} D^2 x^{(6n+t-6)k} J_{3k}^2},
 \end{aligned}$$

where $g_n = g_n(1/\sqrt{x})$ and $c_n = c_n(x)$.

We now have $B = \frac{l_{tk+r}}{l_{tk}} - \alpha^r$. Replace x with $1/\sqrt{x}$, and then multiply the numerator and denominator with $x^{(tk+r)/2}$. This yields

$$\begin{aligned}
 B &= \frac{x^{(tk+r)/2} l_{tk+r}}{x^{r/2} [x^{tk/2} l_{tk}]} - \frac{w^r}{x^{r/2}}, \\
 \text{RHS} &= \frac{j_{tk+r}}{x^{r/2} j_{tk}} - \frac{w^r}{x^{r/2}},
 \end{aligned}$$

where $g_n = g_n(1/\sqrt{x})$ and $c_n = c_n(x)$.

Equating the two sides yields the desired Jacobsthal-Lucas version:

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk+1} D^2 x^{(6n+t-6)k} J_r J_{6k}}{j_{(6n+t-3)k}^2 + (-1)^{tk} D^2 x^{(6n+t-6)k} J_{3k}^2} = \frac{j_{tk+r}}{j_{tk}} - w^r, \quad (3.2)$$

where $c_n = c_n(x)$.

Combining equations (3.1) and (3.2), we get the Jacobsthal version of Theorem 2.1, as the following theorem features. \square

Theorem 3.1. *Let k , r , and t be positive integers, where $t \leq 6$. Then*

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk} D^* \nu^* x^{(6n+t-6)k} J_r J_{6k}}{c_{(6n+t-3)k}^2 - (-1)^{tk} D^* \nu^* x^{(6n+t-6)k} J_{3k}^2} = \frac{c_{tk+r}}{c_{tk}} - w^r. \quad (3.3)$$

Finally, we feature a compact and sophisticated alternate proof of this theorem. It still employs the fibonacci-Jacobsthal relationships, but in a slightly different way.

3.1. An Alternate Method. To begin with, we let

$$d = \frac{1 + \nu^*}{4} = \begin{cases} 1/2, & \text{if } g_n = f_n, \\ 0, & \text{otherwise.} \end{cases}$$

We also have

$$f_n(1/\sqrt{x}) = \frac{J_n(x)}{x^{(n-1)/2}}; \quad l_n(1/\sqrt{x}) = \frac{j_n(x)}{x^{n/2}}; \quad g_n(1/\sqrt{x}) = \frac{c_n(x)}{x^{n/2-d}}.$$

With these new tools at our fingertips, we are ready for the alternate proof.

Proof. Replacing x with $1/\sqrt{x}$ in the rational expression on the left side of equation (2.1) and using the above substitutions, we get

$$\begin{aligned}
 A &= \frac{(-1)^{tk} \mu \nu^* J_r / x^{(r-1)/2} \cdot J_{6k} / x^{(6k-1)/2}}{\left[c_{(6n+t-3)k} / x^{\frac{(6n+t-3)k}{2} - d} \right]^2 - (-1)^{tk} \mu \nu^* \left[\frac{J_{3k}}{x^{(3k-1)/2}} \right]^2} \\
 &= \frac{(-1)^{tk} \mu \nu^* J_r J_{6k} \cdot x^{(6n+t-3)k - 2d - \frac{6k+r-2}{2}}}{c_{(6n+t-3)k}^2 - (-1)^{tk} \mu \nu^* J_{3k}^2 \cdot x^{[(6n+t-3)k - 2d - (3k-1)]}} \\
 &= \frac{(-1)^{tk} \mu \nu^* J_r J_{6k} \cdot x^{(6n+t-6)k - \frac{\nu^* + r - 1}{2}}}{c_{(6n+t-3)k}^2 - (-1)^{tk} \mu \nu^* J_{3k}^2 \cdot x^{(6n+t-6)k + \frac{1-\nu^*}{2}}}; \\
 \text{LHS} &= \sum_{n=1}^{\infty} \frac{(-1)^{tk} D^* \nu^* x^{(6n+t-6)k - r/2} J_r J_{6k}}{c_{(6n+t-3)k}^2 - (-1)^{tk} D^* \nu^* x^{(6n+t-6)k} J_{3k}^2},
 \end{aligned}$$

where $c_n = c_n(x)$.

Turning to the right side of equation (2.1), we have

$$\begin{aligned}
 B &= \frac{g_{tk+r}}{g_{tk}} - \alpha^r \\
 &= \frac{c_{tk+r} / x^{\frac{tk+r}{2} - d}}{c_{tk} / x^{\frac{tk}{2} - d}} - \frac{w^r}{x^{r/2}}; \\
 \text{RHS} &= \frac{c_{tk+r}}{x^{r/2} c_{tk}} - \frac{w^r}{x^{r/2}},
 \end{aligned}$$

where $g_n = g_n(1/\sqrt{x})$ and $c_n = c_n(x)$.

Equating the two sides yields the same Jacobsthal version:

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk} D^* \nu^* x^{(6n+t-6)k} J_r J_{6k}}{c_{(6n+t-3)k}^2 - (-1)^{tk} D^* \nu^* x^{(6n+t-6)k} J_{3k}^2} = \frac{c_{tk+r}}{c_{tk}} - w^r,$$

as expected, where $c_n = c_n(x)$. □

Finally, we pursue a few gibbonacci and Jacobsthal consequences of Theorem 3.1.

3.2. Gibonacci and Jacobsthal Implications. In particular, with $J_n(1) = F_n$ and $j_n(1) = L_n$, Theorem 3.1 yields

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk} F_r F_{6k}}{F_{(6n+t-3)k}^2 - (-1)^{tk} F_{3k}^2} = \frac{F_{tk+r}}{F_{tk}} - \alpha^r; \quad (3.4)$$

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk+1} 5 F_r F_{6k}}{L_{(6n+t-3)k}^2 + (-1)^{tk} 5 F_{3k}^2} = \frac{L_{tk+r}}{L_{tk}} - \alpha^r; \quad (3.5)$$

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk} 2^{(6n+t-6)k} J_r J_{6k}}{J_{(6n+t-3)k}^2 - (-1)^{tk} 2^{(6n+t-6)k} J_{3k}^2} = \frac{J_{tk+r}}{J_{tk}} - 2^r; \quad (3.6)$$

$$\sum_{n=1}^{\infty} \frac{(-1)^{tk+1} 9 \cdot 2^{(6n+t-6)k} J_r J_{6k}}{j_{(6n+t-3)k}^2 + (-1)^{tk} 9 \cdot 2^{(6n+t-6)k} J_{3k}^2} = \frac{j_{tk+r}}{j_{tk}} - 2^r. \quad (3.7)$$

With $r = 1 = k$ and $t \leq 4$, they yield

$$\begin{aligned}
 \sum_{n=1}^{\infty} \frac{1}{F_{6n-2}^2 + 4} &= -\frac{1}{16} + \frac{\sqrt{5}}{16}; & \sum_{n=1}^{\infty} \frac{1}{L_{6n-2}^2 - 20} &= \frac{1}{16} - \frac{\sqrt{5}}{80}; \\
 \sum_{n=1}^{\infty} \frac{1}{F_{6n-1}^2 - 4} &= \frac{3}{16} - \frac{\sqrt{5}}{16}; & \sum_{n=1}^{\infty} \frac{1}{L_{6n-1}^2 + 20} &= -\frac{1}{48} + \frac{\sqrt{5}}{80}; \\
 \sum_{n=1}^{\infty} \frac{1}{F_{6n}^2 + 4} &= -\frac{1}{8} + \frac{\sqrt{5}}{16}; & \sum_{n=1}^{\infty} \frac{1}{L_{6n}^2 - 20} &= \frac{1}{32} - \frac{\sqrt{5}}{80}; \\
 \sum_{n=1}^{\infty} \frac{1}{F_{6n+1}^2 - 4} &= \frac{7}{48} - \frac{\sqrt{5}}{16}; & \sum_{n=1}^{\infty} \frac{1}{L_{6n+1}^2 + 20} &= -\frac{3}{112} + \frac{\sqrt{5}}{80}; \\
 \sum_{n=1}^{\infty} \frac{2^{6n-5}}{J_{6n-2}^2 + 9 \cdot 2^{6n-5}} &= \frac{1}{21}; & \sum_{n=1}^{\infty} \frac{2^{6n-5}}{j_{6n-2}^2 - 81 \cdot 2^{6n-5}} &= \frac{1}{63}; \\
 \sum_{n=1}^{\infty} \frac{2^{6n-4}}{J_{6n-1}^2 - 9 \cdot 2^{6n-4}} &= \frac{1}{21}; & \sum_{n=1}^{\infty} \frac{2^{6n-4}}{j_{6n-1}^2 + 81 \cdot 2^{6n-4}} &= \frac{1}{315}; \\
 \sum_{n=1}^{\infty} \frac{2^{6n-3}}{J_{6n}^2 + 9 \cdot 2^{6n-3}} &= \frac{1}{63}; & \sum_{n=1}^{\infty} \frac{2^{6n-3}}{j_{6n}^2 - 81 \cdot 2^{6n-3}} &= \frac{1}{441}; \\
 \sum_{n=1}^{\infty} \frac{2^{6n-2}}{J_{6n+1}^2 - 9 \cdot 2^{6n-2}} &= \frac{1}{105}; & \sum_{n=1}^{\infty} \frac{2^{6n-2}}{j_{6n+1}^2 + 81 \cdot 2^{6n-2}} &= \frac{1}{1,071}.
 \end{aligned}$$

4. ACKNOWLEDGMENT

The authors are grateful to the reviewer for a careful reading of the article, and for checking all computations.

REFERENCES

- [1] M. Bicknell, *A primer for the Fibonacci numbers: Part VII*, The Fibonacci Quarterly, **8.4** (1970), 407–420.
- [2] A. F. Horadam, *Jacobsthal representation polynomials*, The Fibonacci Quarterly, **35.2** (1997), 137–148.
- [3] T. Koshy, *Vieta polynomials and their close relatives*, The Fibonacci Quarterly, **54.2** (2016), 141–148.
- [4] T. Koshy, *Fibonacci and Lucas Numbers with Applications*, Volume II, Wiley, Hoboken, New Jersey, 2019.
- [5] T. Koshy, *Infinite sums involving Jacobsthal polynomials: Generalizations*, The Fibonacci Quarterly, **61.4** (2023), 305–311.
- [6] T. Koshy, *Sums involving a class of gibbonacci polynomial squares: Generalizations*, The Fibonacci Quarterly, **62.1** (2024), 34–39.

MSC2020: Primary 11B37, 11B39, 11C08.

DEPARTMENT OF MATHEMATICS, FRAMINGHAM STATE UNIVERSITY, FRAMINGHAM, MA 01701

Email address: tkoshy@emeriti.framingham.edu

DEPARTMENT OF COMPUTER SCIENCE, FRAMINGHAM STATE UNIVERSITY, FRAMINGHAM, MA 01701, USA

Email address: zgao@framingham.edu